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(2)

Explain protein synthesis initiation in
eukaryotic cells.

THERew FiREwet § W o ey =
TR STe |

Differentiate between monosomy and
trisomy.
A ek Zgant #§ @ R R7

Explain briefly the role of cryo-
preservation in germplasm conservation.

where e #§ FAtedE R e B
a9 & wagmd

Explain the lock and key theory of
enzyme action.

T Afifen & mﬂm_% m_ﬂ_ﬂ H
ke

Describe in brief the role of K* ion in
stomatal movement.

w1y § K* emm f qfre @ dgg
guEd |

Explain mass flow hypothesis.

oAU YT Gehed T 4T &7

Suggest possible measures to check
deforestation. -

T f FeE T8 ¥ wenRe a0e | Y
S|

( Continued )

(7)

10. Write notes on the following :
frefaRaa w fewfirt ford -

{a) Role of CFCs in environment

wafaw # CFCs # fie

(b) Climax stage
qH AT

(c) Agroforestry
FR-FTh

(d) Endemism
T

* %k ok
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4.

12Y—100/20

(4)

Answer the following :
frafafen % sw fag -

(a) Describe the role of mutation and
polyploidy in plant breeding.
TRy Yo § IOREdT R ST ¥ IRH
W YH B

(b) With the help of a dihybrid cross,
explain the principle of independent
assortment.

T TEER HIE T SATE A g T AU
& frem = )

Write notes on the following :
frafafgs w Rofiat i@ -

(a) Epistasis
HFedn

(b) Genetic code
SRR F2

(c) Kappa particle
AT hUT

(d) Gene mapping
S A

20x2=40

10x4=40

( Continued )

(5)

6. Answer the following : 20x2=40
frfafes ¥ s o -
(a) Describe carbon dioxide fixation in Cgj

(b)

plants.

C, Uit # wR SrisaERe & RlwE@ @
Foi HR|

Describe pentose phosphate pathway
in plants.
it & A wiEhe 1YY v R

7. Write notes on the following : 10x4=40
Frefafga w feoqfrt ford -
(a) Electron transport system
T HaE o
(b) Vernalization
FEATEHT
(c) Senescence
Sfrofar
(d) Role of growth hormones in agriculture
FY & gfg gHEAT i qfe
12Y—100/20 ( Turn Over )



